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Read the sentence to find out whether there is an error in 

it. The error, if any, will be in one part of the sentence. 

The letter corresponding to that part will be your answer. 

If the given sentence is correct as it is, mark the answer as 

'No Error'.



There is a tall tradition of (A)/ scientists and other 

intellectuals (B)/ in the West being casually dismissive (C)/ 

of people’s spiritual experiences. (D)/ No error (E)

1. A

2. B

3. C

4. D

5. E



Primates are an essential (A)/ component of tropical 

biodiversity, and (B)/ contributing to forest regeneration 

(C)/ and ecosystem health. (D)/ No error (E)

1. A

2. B

3. C

4. D

5. E



For the past three decades, (A)/ rising ocean temperature 

have (B)/ put the world’s coral reefs (C)/ under a great deal 

of stress.(D)/ No error (E)

1. A

2. B

3. C

4. D

5. E



India is the fifth most vulnerable (A)/ of 181 countries to 

the effects of (B)/ climate change, with its (C)/ poorer 

being the most at risk. (D)/ No error (E)

1. A

2. B

3. C

4. D

5. E



When the FBI was (A)/ founded in 1908 during (B)/ the 

Progressive Era, federal law (C)/ enforcement was in its 

infancy. (D)/ No error (E)

1. A

2. B

3. C

4. D

5. E



In the given sentence four words have been emboldened 

and marked as (1), (2), (3) and (4). One of the four words 

printed in bold may be misspelt. Find the word which is 

wrongly spelt. The number of that word is your answer. If 

all the words printed in bold are correctly spelt, mark 

option E, i.e., ‘All are correct’, as your answer.



According to another letter that is annexxed (1) to the 

affidavit (2), it is conceded for the respondent (3) that the 

Minister’s letter was technically (4) discoverable in these 

proceedings. No Error (5).

1. 1

2. 2

3. 3

4. 4

5. 5



A shrinking (1) vote share for the centrist parties and a 

notable (2) showing in Sunday’s elections in Sweden echo 

growing anti-imigrant (3) mood across (4) Nordic nations. 

No Error (5).

1. 1

2. 2

3. 3

4. 4

5. 5



He refused (1) to acknowlege (2) that he was the one at 

fault (3) and continued to play the victim. (4) No Error 

(5).

1. 1

2. 2

3. 3

4. 4

5. 5



The child prodigy (1) made a drawing (2) that was 

exceptional (3) in its authentisity. (4) No Error (5).

1. 1

2. 2

3. 3

4. 4

5. 5



The student worked relentlessly (A) to increase (B) his 

marks, and the annual (C) result proved his efforts to be 

frootful. (D) No Error (5).

1. 1

2. 2

3. 3

4. 4

5. 5



In the given question, a part of the sentence is printed in 

bold. Below the sentence, alternatives to the emboldened 

part are given as (A), (B), (C) and (D), which may help 

improve the sentence. Choose the correct alternative out of 

the given five options. In case the given sentence is correct, 

your answer will be option (E), i.e., "No correction 

required". 



The manager has been accuse of siphoning funds from 

one account to another.

1. has accused

2. has being accused

3. has been accusing

4. has been accused

5. No correction required



The hospitals in India, due to the pandemic, are failing to 

guaranteeing basic health facility.

1. is failing to guarantee

2. are failing to guaranteed

3. are failed to guarantee

4. are failing to guarantee

5. No correction required



The academic marks of section B are significant higher, 

but section A performs better when it comes to sports.

1. significant high

2. significance higher

3. significantly higher

4. to significant higher

5. No correction required



In the following question, a sentence is given with blanks to be 

filled in with appropriate word(s). Five alternatives are suggested 

for the question. Choose the correct alternative out of the five.



Before you ____________ money to an online seller, 

make sure you are dealing with a reputable salesperson 

and not a crook.

1. Share

2. Receive

3. Remit

4. Reimburse

5. Give up



According to the captain, his small fishing boat can 

______________ a huge amount of cargo.

1. Unload

2. Haul

3. Save

4. Bring

5. Store



The doctor agreed to ________________ with the 

surgery, but only if the patient lost some weight.

1. Progress

2. Forgo

3. Proceed

4. Starting

5. Act



Police officers ___________ the robbers in the stolen 

car, but the suspects were too quick to be caught.

1. Stop

2. Caught

3. Ran

4. Chased

5. Fought
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